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Uemy paBHa nnowiaab
TaKkoro KkBagpara?

1M-1M=1 M2

1 m Hangem nnowagb aToro
KBagpaTa B ApYyrux
eJnHMLax n3MepeHus.

10 gm - 10 am = 100 gm?
100 cm - 100 cm = 10 000 cm?



1 M?= 100 am?
1 M?% =10 000 cm?

1amM*=1amM -1 am =
=10cm - 10 cm = 100 cm?



=

. bbINno nHTepecHo...

. bbIno TpyaHo...

. ¥1 BbINOMHAMN 3agaHu4. ..
. ¥ noHan, yTo...

. Tenepb 4 mory...

. A1 noyyBCcTBOBAs, 4TO...
. A npuobpen...

. A Hayuyunca...

. Y MeH4 nony4nnocs...

. A cmor...

. A nonpobyto...

. MeHa yonsuno...

. YPOK Oan MHe Ang XXU3HMN. ..
. MHe 3axoTtenoces...

CerogHs 4 y3Han...



UHTepHeT-UCTOYHMK
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